APPLICATION AND CERTIFICATE FOR PAYMENT CITY OF MADISON ENGINEERING DIVISION

Project Manager:	TONY FERNANDEZ	Page 1 of4							
Project: BLACKHA	ANNE DATH IMPROVEMENT AT OL	D MIDDLETON ROAD/EAU CLAIRE AVENUE							
Contract Number:	7389	Payment Number: 1							
DO NOT WRITE	E IN THIS BOX - TO BE COMP	PLETED BY CITY ENGINEERING PERSONNEL ONLY							
TOTAL FROM PAGE:		91,020.40							
LESS RETAINAGE:		4,428.96							
SUBTOTAL:		86,591.44							
LESS PREVIOUS PA	YMENTS:	0.00							
CURRENT PAYMEN	Γ DUE:	\$86,591.44							
		and the second s							
INSPECTOR'S CERT	TIFICATE FOR PAYMENT:	the best of his/her knowledge, the work covered ompleted in accordance with the contract documents, not for the amount certified.							
X	May	5-22-15							
MSPER	CTOR	DATE							
PLEASE PROVIDE TH	E TIME PERIOD FOR THIS PAYMEN	TO: 5-19-15							
PLEASE PROVIDE TH	E CONTRACTOR/SUBCONTRACTO	RS THAT WORKED ON PROJECT DURING THIS PERIOD:							
	PAYMENT REQUEST SHALL BE SULL L PAYMENTS CAN BE PROCESSED E	BMITTED TO THE ENGINEER/INSPECTOR. EVERY TWO WEEKS.							

PAYMENT NO. 1

CONTRACTOR/INSPECTOR/ENGINEER SHOULD ONLY COMPLETE COLUMN #10, "TOTAL UNITS"

S&L UNDERGROUND AND TRUCKING, INC.
BLACKHAWK PATH IMPROVEMENT AT OLD MIDDLETON ROAD/EAU CLAIRE AVENUE CONTRACT NO. 7389

FAIML	NT NO. 1	1	2	3	4	5	6	7	8	9	#10	11	12
ITEM	TYPE OF WORK	ESTIMATED QUANTITIES	UNITS	UNIT PRICE BID	CONTRACT DOLLARS	C. O. DOLLARS	UNITS THIS APPL.	EXTENSION	UNITS PREV. APPL.(S)	EXTENSION	TOTAL UNITS	EXTENSION	PERCENT COMPLETE
ACCOU	NT NO. 10327-403-172: 54440												
10701	TRAFFIC CONTROL	1.00	LUMP SUM	\$3,225.00	\$3,225.00		1.00	\$3,225.00	0.00	\$0.00	1.00	\$3,225.00	100.0%
10721	TRAFFIC CONTROL SIGN - PORTABLE CHANGEABLE MESSAGE	7.00	DAYS	\$125.00	\$875.00		7.00	\$875.00	0.00	\$0.00	7.00	\$875.00	100.0%
10790	RAILROAD INSURANCE	1.00	L.S.	\$1,500.00	\$1,500.00		1.00	\$1,500.00	0.00	\$0.00	1.00	\$1,500.00	100.0%
10911	MOBILIZATION	1.00	L.S.	\$16,400.00	\$16,400.00		1.00	\$16,400.00	0.00	\$0.00	1.00	\$16,400.00	100.0%
20101	EXCAVATION CUT	1.00	L.S.	\$1,060.00	\$1,060.00		1.00	\$1,060.00	0.00	\$0.00	1.00	\$1,060.00	100.0%
20217	CLEAR STONE (UNDISTRIBUTED)	40.00	TON	\$17.00	\$680.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
20221	TOPSOIL	295.00	S.Y.	\$4.60	\$1,357.00		100.00	\$460.00	0.00	\$0.00	100.00	\$460.00	33.9%
20303	SAWCUT BITUMINOUS PAVEMENT	597.00	L.F.	\$1.50	\$895.50		500.00	\$750.00	0.00	\$0.00	500.00	\$750.00	83.8%
20322	REMOVE CONCRETE CURB & GUTTER	256.00	L.F.	\$6.70	\$1,715.20		222.00	\$1,487.40	0.00	\$0.00	222.00	\$1,487.40	86.7%
20323	REMOVE CONCRETE SIDEWALK & DRIVE	753.00	S.F.	\$2.60	\$1,957.80		700.00	\$1,820.00	0.00	\$0.00	700.00	\$1,820.00	93.0%
20326	REMOVE FENCE	1.00	L.S.	\$500.00	\$500.00		1.00	\$500.00	0.00	\$0.00	1.00	\$500.00	100.0%
20401	CLEARING	90.00	I.D.	\$22.00	\$1,980.00		173.00	\$3,806.00	0.00	\$0.00	173.00	\$3,806.00	192.2%
20403	GRUBBING	90.00	I.D.	\$22.00	\$1,980.00		173.00	\$3,806.00	0.00	\$0.00	173.00	\$3,806.00	192.2%
20503	ADJUST INLET	9.00	EACH	\$265.00	\$2,385.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
20701	TERRACE SEEDING	295.00	S.Y.	\$3.00	\$885.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
21001	EROSION CONTROL IMPLEMENTATION PLAN	1.00	L.S.	\$620.00	\$620.00		1.00	\$620.00	0.00	\$0.00	1.00	\$620.00	100.0%
21001	EROSION CONTROL INSPECTION	2.00	EACH	\$400.00	\$800.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
21013	STREET SWEEPING	1.00	L.S.	\$766.00	\$766.00		1.00	\$766.00	0.00	\$0.00	1.00	\$766.00	100.0%
21024	SILT SOCK (12 INCH) - COMPLETE	150.00	L.F.	\$5.00	\$750.00		150.00	\$750.00	0.00	\$0.00	150.00	\$750.00	100.0%
21055	INLET PROTECTION, TYPE D HYBRID - COMPLETE	10.00	EACH	\$150.00	\$1,500.00		3.00	\$450.00	0.00	\$0.00	3.00	\$450.00	30.0%

CONTRACTOR/INSPECTOR/ENGINEER SHOULD ONLY COMPLETE COLUMN #10, "TOTAL UNITS"

S&L UNDERGROUND AND TRUCKING, INC. BLACKHAWK PATH IMPROVEMENT AT OLD MIDDLETON ROAD/EAU CLAIRE AVENUE **CONTRACT NO. 7389**

	ACT NO. 7389 NT NO. 1						İ				*****		İ
		1	2	3	4	5	6	7	8	9	#10	11	12
ITEM	TYPE OF WORK	ESTIMATED QUANTITIES	UNITS	UNIT PRICE BID	CONTRACT	C. O. DOLLARS	UNITS THIS APPL.	EXTENSION	UNITS PREV. APPL.(S)	EXTENSION	TOTAL UNITS	EXTENSION	PERCENT COMPLETE
21061	EROSION MATTING, CLASS I, URBAN TYPE A	185.00	S.Y.	\$1.50	\$277.50		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
21072	EROSION MATTING CLASS II TYPE B (ORGANIC)	110.00	S.Y.	\$2.10	\$231.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
30201	TYPE "A" CONCRETE CURB & GUTTER	218.00	L.F.	\$38.00	\$8,284.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
30207	TYPE "H" CONCRETE CURB & GUTTER	38.00	L.F.	\$36.00	\$1,368.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
30302	7 INCH CONCRETE SIDEWALK & DRIVE	820.00	S.F.	\$9.50	\$7,790.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
30311	CONCRETE MOUNTABLE MEDIAN ISLAND NOSE	200.00	S.F.	\$9.00	\$1,800.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
30340	CURB RAMP DETECTABLE WARNING FIELD	80.00	S.F.	\$30.00	\$2,400.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
40102	CRUSHED AGGREGATE BASE COURSE, GRADATION 2 OR 3	180.00	TON	\$19.10	\$3,438.00		100.00	\$1,910.00	0.00	\$0.00	100.00	\$1,910.00	55.6%
40202	HMA PAVEMENT, TYPE E-1	155.00	TON	\$81.00	\$12,555.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
40301	FULL WIDTH GRINDING	975.00	S.Y.	\$8.00	\$7,800.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
50802	CONCRETE SUPPORTS	1.00	EACH	\$2,610.00	\$2,610.00		1.00	\$2,610.00	0.00	\$0.00	1.00	\$2,610.00	100.0%
60801	PAVEMENT MARKING EPOXY, DOUBLE LINE, 4-INCH	300.00	L.F.	\$1.50	\$450.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
60802	PAVEMENT MARKING EPOXY, LINE, 6-INCH	390.00	L.F.	\$0.85	\$331.50		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
60803	PAVEMENT MARKING EPOXY, LINE, 8-INCH	130.00	L.F.	\$0.95	\$123.50		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
60812	PAVEMENT MARKING EPOXY, CROSSWALK, 6-INCH	180.00	L.F.	\$7.50	\$1,350.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
60814	PAVEMENT MARKING EPOXY, CROSSWALK, 12-INCH	80.00	L.F.	\$8.25	\$660.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
60818	PAVEMENT MARKING EPOXY, STOP LINE, 24-INCH	20.00	L.F.	\$10.50	\$210.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
60822	PAVEMENT MARKING EPOXY, SYMBOL, BIKE SHARROW	5.00	EACH	\$165.00	\$825.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
60823	PAVEMENT MARKING EPOXY, SYMBOL, BIKE LANE	5.00	EACH	\$125.00	\$625.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
60825	PAVEMENT MARKING EPOXY, SYMBOL, BIKE LEFT ARROW	1.00	EACH	\$95.00	\$95.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
60829	PAVEMENT MARKING EPOXY, SYMBOL, LEFT ARROW	1.00	EACH	\$275.00	\$275.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
60834	PAVEMENT MARKING EPOXY, WORD, "ONLY"	1.00	EACH	\$325.00	\$325.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%

CONTRACTOR/INSPECTOR/ENGINEER SHOULD ONLY COMPLETE COLUMN #10, "TOTAL UNITS"

S&L UNDERGROUND AND TRUCKING, INC.
BLACKHAWK PATH IMPROVEMENT AT OLD MIDDLETON ROAD/EAU CLAIRE AVENUE
CONTRACT NO. 7389

PAYMENT NO. 1

PATIVICI	NI NO. I	1	2	3	4	5	6	7	8	9	#10	11	12
ITEM	TYPE OF WORK	ESTIMATED QUANTITIES	UNITS	UNIT PRICE BID	CONTRACT DOLLARS	C. O. DOLLARS	UNITS THIS APPL.	EXTENSION	UNITS PREV. APPL.(S)	EXTENSION	TOTAL UNITS	EXTENSION	PERCENT COMPLETE
60880	PAVEMENT MARKING REMOVAL, 4- INCH	190.00	L.F.	\$2.85	\$541.50		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
70418	ADJUST WATER VALVE BOX	1.00	EACH	\$182.00	\$182.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
90001	MONOLITHIC CURB FOR CONCRETE SIDEWALK	96.00	L.F.	\$30.00	\$2,880.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
90002	CONCRETE MEDIAN SPECIAL	492.00	S.F.	\$12.50	\$6,150.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
90003	STEEL RAILING, TYPE 1	94.00	L.F.	\$150.00	\$14,100.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
90004	MECHANICALLY STABILIZED MODULAR BLOCK WALL	730.00	S.F.	\$70.00	\$51,100.00		650.00	\$45,500.00	0.00	\$0.00	650.00	\$45,500.00	89.0%
90005	REMOVE AND REPLACE PATH GUIDE SIGN	1.00	L.S.	\$250.00	\$250.00		0.50	\$125.00	0.00	\$0.00	0.50	\$125.00	50.0%
90006	TREE PROTECTION	1.00	EACH	\$200.00	\$200.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
90030	ADJUST INLET WITH NEW CASTING TYPE WR-3067-7009	1.00	EACH	\$900.00	\$900.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
90036	RECONSTRUCT STORM ACCESS STRUCTURE	1.00	L.S.	\$5,200.00	\$5,200.00		0.50	\$2,600.00	0.00	\$0.00	0.50	\$2,600.00	50.0%
CONTRA	ACT TOTALS				\$177,158.50			\$91,020.40	•	\$0.00	_	\$91,020.40	51.4%

1